=

epemMoxLi akud
«lllacnuea kaca»
o 7:48 rop
Homepu kac
10,11,12

B T1a



epemoxui akuil
«lllacnuea kaca»
o 8:50 roa

Homepu kac
1,9,10,11,12

B T1a



epemoxul akull
«lllacnuea kaca»
0 9:37 rop

Homepu kac
1,3,4,9,10,11,12

B T1a



epemoxui axkuil

«lllacnuea kaca»
o 11:00 ron
Homepu kac

,3,4,8,9,10,11,1

B T1a



epemoxui axkuil
«lllacnuea kaca»
o 11:59 roa
Homepu kac

,3,4,7,8,9,10,11
12

B T1a



epemoxui akuili
«lllacnuea kaca»
o 12:40 ropn

Homepu kac
,4,6,7,8,9,10,11,

B T1a



epemoxui akuili
«lllacnuea kaca»
o 13:50 ron

Homepu kac
3,4,6,7,8,9,10,11,

B T1a



=

epemoxui axkuili
«lllacnuea kaca»
o 14:30 ron

Homepu kac
,2,3,4,5,6,7,8,9,10

11,12

B T1a



epemoxul akull
«lllacnuea kaca»
o 15:40 ron
Homepu kac

2,3,4,5,6,7,8,9
10,11,12

B T1a



N

epemoxul akull
«lllacnuea kaca»
o 16:27 ron
Homepu kac

,3,4,5,6,7,8,9,10
11,12

B T1a



epemoxui akuil
«lllacnuea kaca»
o 17:45 ropn
Homepu kac

3,4,5,6,7,8,10,1
12

B T1a



epemoxui axkuili

«lllacnuea kaca»
o 18:25 roa
Homepu kac

,9,6,7,8,10,11,1

B T1a



=

epemoxui akuil

«lllacnuea kaca»
o 19:40 ron
Homepu kac

2,9,6,7,10,11,12

B T1a



epemoxui akuil

«lllacnuea kaca»
o 20:30 ron
Homepu kac

2,5,6,10,11,12

B T1a



epemoxui akuili
«lllacnuea kaca»
o 21:25 roa
Homepu kac
2,5,10,11,12

B T1a






